











[5]
Brass is he alloy of copper and zinc.

49.©
Assertion : Metals has the property dactility, scnority. This is correct
Reason : Iodine is a metal. This is wrong. lodine is a non-metal. Thus, answer is C.

50.®
Since the bulbs of tester glows brightly for liquid 'X'. So liquid 'X' is better conductor
than liquid 'Y’, as it glows very dimly.

. Mathematics| .

51.

5
Speed =90 km/h = 90><Em/s=25m/s.

Distance covered to clear the platform = 450 m.

/45618
25

Weight (in g) No. of sheets

.. Time taken = seconds = 18 seconds

52.®

40 12
1000 X

Here, direct proportion
x 1000 1008 x 12"

T2 a0 T Ad

=300
53.©
Acandoin 1 day % part.
B can doin 1 day 1 part.
20

A, B and C together can do in 1 day % part.

.. Ccando alone in 1 day (l—i— L ) part

5 10 20
:(4_2_1jpart.
20
:ipart
20
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[6]
€
- C can finish the whole workin 1 days
=20 days. 20
54.©

The pump can fill in 1 hour % part of the tank.

Due to leak in the tank, it can fill in 1 hour § part of the tank.

.. The leak can empty in 1 hour (%—%) part

(7—6) 1
=|—— | part= — part.
14 14

.. The leak can empty the full tank in 14 hours.
55. ©

1 3
Area of trapezium = 2 (6 +10) x g sq.ft.

:ix}ég x%sq.ft

Z

=12sq.ft.

56.©
Prisms and Pyramids are polyhedrons.

57.©

3

6al=al=a=6

.. the side length of the cube = 6 units.

58.®

E+2=F+V

=E+2=7+10=E=15

. Assertion is true

Reason is also true and reason is the correct explanation of Assertion.

59.®
1 cubic metre = 100 x 100 x 100 cm?

Area = 6 hectares = 6 x 10000 m?2
=6 x 10000 x 100 x 100 cm?

.. Thickness of the gold = 100 x 160 x 160 cm
GXMXMXMXIOO

Techno India Group e DN-25 e Sector-V e Kolkata



7]

= i cm =0.0017 cm
600

.. Assertion is true

Reason is also true and reason is the correct explanation of assertion.

60.
Area of the park = % x (70 + 50) x 30 m?
= % x 120 x 30 m?
= 1800 m?
61.®
Cost to landscape the park
=31800 x5
=3 9000
62.©
Perimeter of the flower bed
=2x(20+10)m
=60 m
63.
Area of trapezium ABCD
= % x (a +b) x h sqg. units.
64.®
Number of vertices of a pyramid whose base is a polygon of n-sides =n + 1.
65.®
Volume of a cube
= a3
Surface area = 6a2
3
' \/ Surface area | B / g
’ 6 6
= a3
66.©
X+l 3 gx+8-6x+9
2x+3 8
=>2x=1
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(8]
=>X=—
2
67.

Number of diagonals in a heptagon
_7(7-3) _ 1
2

4

68.®
(a+b) (a%+b?) (a* + b?)

_(a-b)(a+b)(a®+b*)(a* +b*)
) (a—b)

_ (@®-b*)(a®*+b*)(a* +b?)

) (a—b)

a®—b®
- a-b

69.®

7y 8x3
Sum of digits=7+y+8+x+3
=18 + x+ ywhich is

divisible by 9 for the least value of x + y = 0.

70.©
3389017 =73

71.®

ga2 = 223 2

. Volume of the cube = 729 m3

25 o4
=11="m°
64
72.®

A triangular prism has 9 edges.
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[9]

73.® A 4cm B
&Y
> 0.9m
D 1 1
2cm E 4cm F 2cm
AE=3cm «~—8cm —

.. The area of the trapezium = % x (8 +4) x 3 cm?

=ix6 2><3cm2

2

=18 cm?

74.

A can doin 1 day S part.
11

6
B can doin 1 day 1 part.

.. A can do the whole work in % days

B can do the whole work in L days

.. Ratio of number of days

11 11
=—:— =6:5
5 6

75.0
Length of train = 100 m.

Speed of train = 30 km/h

5
= ,%(TSX—m/s
18,
25

=—m/s
3
100
. Time required = 25 seconds

3

3
= }064 x — seconds
25

=12 seconds
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[10]

S Biology o
76. ®

Hydra
77. ®

Sperm duct

Its a part of the male reproductive system

78. ®
Zygote

Zygote is the product of fusion between the male and female gametes

79. ®

Sperm

80. ®
Fallopian tube

81 ®

One
One from either of the two ovaries, each month

82. ©®

Dolphin

Dolphin is a mammal, hence viviparous.
83. ©

Ais true but R s false

In asexual reproduction, one or many offsprings are produced depending on the mode
of reproduction or type of organism.

84. ©
A is true but R is False

The male gamete swims to reach the stationary female gamete

85. ®
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Both A and R are true and R is the correct explanation of A.

The testes require a temperature lower than the normal body temperature required for
the production of viable sperms.

86.
Ais ovary; B is egg
87. ®

Fallopian tube

88. ©®

Uterus

89. ©

Cervix

90.

Sea horse

91. ©
All of these

92. ®
Madhya Pradesh

93. ©
All of these

924. ®
Edible fishes

95. ®

Unicellular

96. ®
Both A and R are true and R is the correct explanation of A.

Birds do not give birth to young ones, but produce eggs which hatch out into young
ones.
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97. ©

Ais true but R is false
The placenta develops after implantation.

98. ©
All of these

99.
Epididymis
100. ®

Hormones
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